Glycan quantity for each experiment (calibration curve)

1(6): m/z= 1118.3750
(Hex)6
600000000000000

08

05

04

03

expression (pmol)

02

01

0.0505x+ -0.1434
R2= 0.8704

0

0 2 4 6 8 10
quantity (ul)

5(21): m/z= 1848.6392
(Hex)5 + (Man)3(GlcNAc)2

500000000000000C
18
16
14
L M2
g
5 10
s
2 s
5
&g
4
2 1.6690x+ -0.9623
R2= 09529
OU 2 4 5 8 10

quantity (ul)

9(31): m/z= 1403.5073
(Hex)1 (HexNAc)1 +
(Man)3(GIcNAc)2
110000000000000C

25;

2

0

o}

expression (pmol)

=}
wn

0.2438x+ -0.2235
R2=  0.8920

0

0 2 4 6 8 10
quantity (ul)

13(37): m/z=1768.6394
(Hex)2 (HexNAc)2 +
(Man)3(GlcNAc)2
220000000000000C

35

30

25

20

expression (pmol)

3.0346x+ 06819
R2= 09271

0 2 4 6 8 10
quantity (ul)

2(18): m/z=1362.4808
(Hex)2 + (Man)3(GlcNAc)2
200000000000000C

35

30

25

expression (pmol)

2.8619x+ 15372
R2=  0.9694

0 2 4 6 g 10
quantity (ul)

6(22): m/z=2010.6920
(Hex)6 + (Man)3(GIcNAc)2
600000000000000C

35

30

25

expression (pmol)

2.7109%+  1.3467
R2=  0.9808

0 2 4 6 g 10
quantity (ul)

10(32): m/z=1606.5866
(Hex)1 (HexNAc)2 +
(Man)3(GlcNAc)2
120000000000000C

20

expression (pmel)
=

1.60Mx+ 1.1809
R2= 09270

0 2 4 6 g 10
quantity (ul)

14(38): m/z=1971.7187
(Hex)2 (HexNAc)3 +
(Man)3(GlcNAc)2
230000000000000C

expression (pmel)
=
©
S}

0.9007x+ 1.2260
R2= 09483

0 2 4 6 g 10
quantity (ul)

3(19): m/z=1524.5336
(Hex)3 + (Man)3(GlcNAc)2

300000000000000C
’ : 4quantityiu\) : h

7(27): m/z= 1444.5338
(HexNAc)2 +
(Man)3(GIcNAc)2
020000000000000C

25 o
§ | e

quantity (ul)

11(33): m/z= 1809.6659
(Hex)1 (HexNAc)3 +
(Man)3(GIcNAc)2
130000000000000C

expression (pmel)

1.0918x+ 1.6318
R2= 09892

0 2 4 6 8 10
quantity (ul)

15(41): m/z=1727.6129
(Hex)3 (HexNAc)1 +
(Man)3(GIcNAc)2
310000000000000C

6

5
4 )

3

expression (pmel)

0.3344x+  1.8442
R2= 09397

0 2 4 6 g 10
quantity (ul)

4(20): m/z=1686.5864
(Hex)4 + (Man)3(GIlcNAc)2
400000000000000C

expression (pmol)

0.96598x+ 19380
R2= 0.9468

0 2 4 6 8 10
quantity (ul)

8(28): m/z=1647.6131
(HexNAc)3 +
(Man)3(GIcNAc)2
030000000000000C

12

10

@

expression (pmol)

0.4845x+ 63666
R2= 0.9886

0 2 4 6 8 10
quantity (ul)

12(36): m/z=1565.5601
(Hex)2 (HexNAc)1 +

(Man)3(GlcNAc)2
210000000000000C
3 2: .

quantity (ul)

16(62): m/z=1590.5917
(HexNAc)2 (Fuc)l +
(Man)3(GIcNAc)2
021000000000000C

140

120

100

80

60

expression (pmol)

40

20

105133x+  6.7901
R2= 09800

0

0 2 4 6 g 10
quantity (ul)



17(63): m/z=1793.6710
(HexNAc)3 (Fuc)l +
(Man)3(GlcNAc)2
031000000000000C

25

20

o

=1

expression (pmol)

o

1.8884x+ 2.8586
R2= 09786

0

0 2 4 6 8 10
quantity (ul)

21(141): m/z= 2327.8394
(Hex)4 (HexNAc)1 (Fuc)3 +
(Man)3(GlcNAc)2
413000000000000C

90

80

expression (pmol)

10 69857+ 44290
R2= 0.9650

0 2 4 6 8 10
quantity (ul)

25(193): m/z=2010.7660
(HexNAc)3 (Fuc)l (GlcA)1

+ (Man)3(GIcNAc)2
031000000000010C

quantity (ul)

29(286): m/z= 1573.6128
(HexNAc)1 (6NeuAc)1 +
(Man)3(GlcNAc)2
010000100000000C

6

expression (pmol)
w

0.5728x+ -04196
R2= 0.9663

0 2 4 6 8 10
quantity (ul)

18(67): m/z=1752.6445
(Hex)1 (HexNAc)2 (Fuc)l +
(Man)3(GlcNAc)2
121000000000000C

200

180

160

140

2 120
=
S 100
g
5 80
&
60
40
20 16,6883+ 63308
R2= 0.9868
0
0 2 4 6 8 10

quantity (ul)

22(147): m/z=2692.9715
(Hex)5 (HexNAc)2 (Fuc)3 +

(Man)3(GIcNAc)2
523000000000000C

quantity (ul)

26(200): m/z=2578.9774
(Hex)1 (HexNAc)5 (Fuc)l
(GlcA)1 +
(Man)3(GlcNAc)2
151000000000010C

120

100

expression (pmel)
@ =
=1 =1

o~
S

%}
S

101777x+  4.4259
R2=  0.9940

0 2 4 6 8 10
quantity (ul)

30(296): m/z=1735.6656
(Hex)1 (HexNAc)1
(6NeuAc)l +

(Man)3(GlcNAc)2
110000100000000C
:E‘ 10 [0

’ ’ 4quant\ty[?m) ’ ‘

19(68): m/z=1955.7238
(Hex)1 (HexNAc)3 (Fuc)l +
(Man)3(GlcNAc)2
131000000000000C

40

35

30

25

20

expression (pmol)

31784+ 2.2904
R2= 09914

0 2 4 6 8 10
quantity (ul)

23(148): m/z= 2896.0508
(Hex)5 (HexNAc)3 (Fuc)3 +
(Man)3(GlcNAc)2
533000000000000C

09

08

07

0.6

05

04

expression (pmol)

03
02
01 /
0
0 2 4 6 8 10
quantity (ul)

27(216): m/z=2414.8714
(Hex)5 (HexNAc)1 (Fuc)l
(GIlcA)1 +
(Man)3(GIcNAc)2
511000000000010C

9

0.094px+ -0.2p25
R2= 09368

expression (pmel)

0.6725x+ 0.9551
R2= 098867

[T Now A o @ = =

0 2 4 6 g 10
quantity (ul)

31(297): m/z=1707.6343
(Hex)1 (HexNAc)1
(3-8NeuAc)l +

(Man)3(GlcNAc)2
110001000000000C
E 08 ¢

’ ’ 4quantlt\,tﬁ(u\) ’ °

20(72): m/z=1914.6973
(Hex)2 (HexNAc)2 (Fuc)l +
(Man)3(GlcNAc)2
221000000000000C

100

90

2 w0
=
§ 50
¢
S 4
&
30
20
10 8.7006x+ 13082
R2= 09926
0
0 2 4 8 8 10

quantity (ul)

24(165): m/z=2432.9195
(Hex)1 (HexNAc)5 (GlcA)l
+ (Man)3(GIcNAc)2
150000000000010C

2000

1800

1600

1400

1200

1000

expression (pmol)

800

600

400

200 170.1368x+ 725884

R2= 09971

0

0 2 4 6 8 10
quantity (ul)

28(237): m/z=2439.9030
(Hex)3 (HexNAc)2 (Fuc)2
(GIlcA)1 +
(Man)3(GIcNAc)2
322000000000010C

30

25

expression (pmol)
— 1
o S

o

2.7842x+ -2.7310
R2= 09338

0 2 4 6 8 10
quantity (ul)

32(298): m/z= 1938.7449
(Hex)1 (HexNAc)2
(6NeuAc)l +
(Man)3(GIcNAc)2
120000100000000C

expression (pmol})

[+]

4

2 1.0821x+ 54960
R2= 09995

0

0 2 4 6 8 10
quantity (ul)



33(300): m/z=2141.8242
(Hex)1 (HexNAc)3
(6NeuAc)l +
(Man)3(GlcNAc)2
130000100000000C

35

30

25

expression (pmol)

3.2415x+ -1.8939
R2= 0.8724

0 2 4 6 8 10
quantity (ul)

37(309): m/z=2072.7664
(Hex)2 (HexNAc)2
(3-8NeuAc)1 +
(Man)3(GlcNAc)2
220001000000000C

25

20

o

=1

expression (pmol)

o

1.8786x+ 1.8752
R2= 09922

0

0 2 4 6 8 10
quantity (ul)

41(320): m/z= 2465.9298
(Hex)3 (HexNAc)3
(6NeuAc)l +
(Man)3(GIcNAc)2
330000100000000C

40

35

30

25

20

expression (pmol)

3.0479x+ 15512
R2= 09574

0 2 4 6 8 10
quantity (ul)

45(370): m/z=2287.8821
(Hex)1 (HexNAc)3 (Fuc)1
(6NeuAc)l +
(Man)3(GlcNAc)2
131000100000000C

34(306): m/z= 1897.7184
(Hex)2 (HexNAc)1
(6NeuAc)l +
(Man)3(GlcNAc)2
210000100000000C

25

20

=

=)

expression (pmol)

23

1.1361x+ 10.4172
R2= 09526

0 2 4 6 g 10
quantity (ul)

38(310): m/z=2303.8770
(Hex)2 (HexNAc¢)3
(6NeuAc)l +
(Man)3(GlcNAc)2
230000100000000C

45

40

35

30

25

expression (pmol)

5 3.4074x+ 28264
R2= 0.9920

0 2 4 6 8 10
quantity (ul)

42(332): m/z=2831.0619
(Hex)4 (HexNAc)4
(6NeuAc)l +
(Man)3(GlcNAc)2
440000100000000C

2

18

16

expression (pmol)

02 0.1310x+ 04849
R2= 0.8926

0 2 4 6 8 10
quantity (ul)

46(372): m/z=2490.9614
(Hex)1 (HexNAc)4 (Fuc)l
(6NeuAc)l +
(Man)3(GlcNAc)2
141000100000000C

35(307): m/z= 1869.6871
(Hex)2 (HexNAc)1
(3-8NeuAc)1 +
(Man)3(GlcNAc)2
210001000000000C

25

expression (pmol)

0.2142x+ -0.0795
R2= 0.8488

0 2 4 6 8 10
quantity (ul)

39(316): m/z=2059.7712
(Hex)3 (HexNAc)1
(6NeuAc)l +
(Man)3(GIcNAc)2
310000100000000C

16

expression (pmol)
o
&

1.2228x+ 2.1086
R2= 09689

0 2 4 6 8 10
quantity (ul)

43(336): m/z= 2383.8768
(Hex)5 (HexNAc)1
(6NeuAc)l +
(Man)3(GlcNAc)2
510000100000000C

45

4
35
3

25 @)

2

expression (pmol)

15

1

05 03069+ 06672
R2= 09189

0

0 2 4 6 8 10
quantity (ul)

47(378): m/z= 2246.8556
(Hex)2 (HexNAc)2 (Fuc)1
(6NeuAc)l +
(Man)3(GlcNAc)2
221000100000000C

36(308): m/z=2100.7977
(Hex)2 (HexNAc)2
(6NeuAc)l +
(Man)3(GlcNAc)2
220000100000000C

450

400

350

300

250

200

expression (pmol)

150

100

=0 39.9326x+ 6.8639
R2= 09979

0

0 2 4 6 g 10
quantity (ul)

40(317): m/z=2031.7399
(Hex)3 (HexNAc)1
(3-8NeuAc)l +
(Man)3(GIcNAc)2
310001000000000C

25

2

o

expression (pmol})

o
w

0.2654x+ -0.5201
R2= 09705

0

0 2 4 6 8 10
quantity (ul)

44(368): m/z=2084.8028
(Hex)1 (HexNAc)2 (Fuc)l
(6NeuAc)l +
(Man)3(GlcNAc)2
121000100000000C

expression (pmol)

1.1542%+ 21770
R2= 09781

0 2 4 6 8 10
quantity (ul)

48(379): m/z=2218.8243
(Hex)2 (HexNAc)2 (Fuc)1
(3-8NeuAc)l +
(Man)3(GlcNAc)2
221001000000000C



10
8
3
£
=3
§ 6
a
2
g
2
& 4
2
0.9166x+ 0.2416
R2= 0.8153
B ¢
0 2 4 6 8 10

quantity (ul)
49(390): m/z=2611.9877
(Hex)3 (HexNAc)3 (Fuc)1
(6NeuAc)l +

(Man)3(GlcNAc)2
331000100000000C
35 Cb
3y j é
’ ’ 4ql.lamt\tyﬁ(ulj : "

53(529): m/z=2997.0985
(Hex)5 (HexNAc)2 (Fuc)3
(3-8NeuAc)l +

(Man)3(GlcNAc)2
523001000000000C
: ¢

cuantity (ul)

57(736): m/z=2677.0618
(Hex)1 (HexNAc)4

(6NeuAc)2 +
(Man)3(GlcNAc)?2
140000200000000C
: 04 /

’ ’ 4ql.lamt\tyﬁ(ulj : "

61(745): m/z= 2636.0353
(Hex)2 (HexNAc)3
(6NeuAc)2 +

12 /
1

5
£
L
5 o8
@a
2z
% 06
04
02 0.204Bx+ -08B72
R2= 0.8619
0
Q 2 4 6 8 10

quantity (ul)
50(397): m/z=2339.8506
(Hex)4 (HexNAc)I (Fuc)l
(3-8NeuAc)l +

(Man)3(GlcNAc)2
411001000000000C
~ 14 (b

’ ’ 4quant\ty[?m) ’ ‘
54(554): m/z=2317.8927
(Hex)2 (HexNAc)2
(6NeuAc)1 (GlcA)I +
(Man)3(GlcNAc)2
220000100000010C
- 25 Cb
£ )
% 15 Cb

quantity (ul)

58(742): m/z=2432.9560
(Hex)2 (HexNAc)2
(6NeuAc)2 +
(Man)3(GlcNAc)2
220000200000000C

2000

1800

1600

1400

2 1200
=
S 1000
g
S 800
&
800
400
200 170 1368x+ 735884
R2= 09971
0
0 2 4 6 8 10

quantity (ul)
62(755): m/z=2566.9775
(Hex)3 (HexNAc)2
(3-8NeuAc)1 (6NeuAc)l +

200

180

160

140

120

100

expression (pmel)

80

60

40

20 17.7835x+ -11.4283
R2= 08729

0 2 4 6 8 10
quantity (ul)

51(428): m/z= 2474.9665
(HexNAc)4 (Fuc)2
(6NeuAc)l +
(Man)3(GlcNAc)2
042000100000000C

expression (pmol)

12016x+ 12228
R2= 09989

o I

0 2 4 6 8 10
quantity (ul)

55(561): m/z=2899.0993
(Hex)2 (HexNAc)5
(3-8NeuAc)1 (GlcA)1 +
(Man)3(GIcNAc)2
250001000000010C

12

1

0.8

0.6

expression (pmol)

04

02

0.140Bx+ -040125
R2= 0.9p65

0

0 2 4 6 8 10
quantity (ul)

59(743): m/z=2404.9247
(Hex)2 (HexNAc)2
(3-8NeuAc)l (6NeuAc)l +
(Man)3(GlcNAc)2
220001100000000C

300

250

200

150

expression (pmol)

100

50

28.4918x+ -14091
R2= 09956

0

0 2 4 6 8 10
quantity (ul)

63(757): m/z= 2798.0881
(Hex)3 (HexNAc)3
(6NeuAc)2 +

18
16
14
g w2
=
§ 10
o]
2
5 8
5
8
4
2 14486+ 23157
R2= 09688
0
0 2 4 6 8 10

quantity (ul)

52(500): m/z=2742.0507
(Hex)2 (HexNAc)3 (Fuc)3
(6NeuAc)l +
(Man)3(GlcNAc)2
233000100000000C

35

3

25

expression (pmol})
o e
A

=

=}
n

0.2256x+ 0.7524
R2= 09363

0

0 2 4 6 8 10
quantity (ul)

56(609): m/z=3045.1572
(Hex)2 (HexNAc)5 (Fuc)l
(3-8NeuAc)1 (GlcA)1 +
(Man)3(GIcNAc)2
251001000000010C

16

expression (pmol)
=)
@

0.1425x+ -0.0087
R2= 09737

0 2 4 6 g 10
quantity (ul)

60(744): m/z=2376.8934
(Hex)2 (HexNAc)2
(3-8NeuAc)2 +
(Man)3(GIcNAc)2
220002000000000C

10

expression (pmol})

0.7505x+ 0.8002
R2= 09879

9
8
T
6
5
4
3
2
1
0

0 2 4 6 8 10
quantity (ul)

64(758): m/z=2770.0568
(Hex)3 (HexNAc)3
(3-8NeuAc)1 (6NeuAc)l +



(Man)3(GlcNAc)2

230000200000000C
5
_ 4
s 6
7
1
0.3842x+ 1.0409
R2= 0.9529
’ 1] 2 4 6 8 10
quantity (ul)

65(759): m/z=2742.0255
(Hex)3 (HexNAc)3
(3-8NeuAc)2 +
(Man)3(GlcNAc)2
330002000000000C

35

3

25

expression (pmol)
o e
o

S

=}
[

0.2256x+ 0.7524
R2= 09363

0

0 2 4 6 8 10
quantity (ul)

69(816): m/z=2522.9513
(Hex)2 (HexNAc)2 (Fuc)l
(3-8NeuAc)2 +
(Man)3(GlcNAc)2
221002000000000C

12

10

g

expression (pmol)
o

0.9303x+ 1.1869
R2= 0.9823

0 2 4 6 8 10
quantity (ul)

73(830): m/z=2916.1147
(Hex)3 (HexNAc)3 (Fuc)1
(3-8NeuAc)l (6NeuAc)l +
(Man)3(GlcNAc)2
331001100000000C

6

5

4

; b0

expression (pmol)

0.3718x+ 1.3240
R2=  0.9028

0 2 4 6 8 10
cuantity (ul)

(Man)3(GlcNAc)2
320001100000000C

[

5

4

3 (I) CI)

2

expression (pmol)

1

0.4271x+ 0.7586
R2= 0.8880

0

0 2 4 6 8 10
quantity (ul)

66(773): m/z=3135.1889
(Hex)4 (HexNAc)4
(3-8NeuAc)1 (6NeuAc)l +
(Man)3(GlcNAc)2
440001100000000C

9

¢ %

expression (pmel)

0.5722x+ 21428
R2= 0.8384

8
T
6
5
4
3
2
1
0

0 2 4 6 8 10
quantity (ul)

70(817): m/z=2782.0932
(Hex)2 (HexNAc)3 (Fuc)l
(6NeuAc)2 +
(Man)3(GlcNAc)2
231000200000000C

50

45

40

35

30

25

expression (pmol)

5 3.8849x+ 38624
R2= 0.9855

1] 2 4 6 8 10
quantity (ul)

74(894): m/z=2831.0620
(Hex)3 (HexNAc)2 (Fuc)2
(3-8NeuAc)2 +
(Man)3(GlcNAc)2
322002000000000C

2

18

16

12 (1) )

expression (pmol)

0.2 0.1310x+ 04849
R2= 0.8926

0 2 4 6 8 10
quantity (ul)

(Man)3(GlcNAc)2
330000200000000C

35

30

25

expression (pmol)

2.5052x+ 3.0151
R2= 09253

1] 2 4 6 8 10
quantity (ul)

67(814): m/z=2579.0139
(Hex)2 (HexNAc)2 (Fuc)1
(6NeuAc)2 +
(Man)3(GlcNAc)2
221000200000000C

120

100

=5}
=]

=)
o

expression (pmel)

40

20

10477 7x+  4.4259
R2= 09940

0 2 4 6 8 10
quantity (ul)

71(818): m/z=2754.0619
(Hex)2 (HexNAc)3 (Fuc)l
(3-8NeuAc)l (6NeuAc)l +
(Man)3(GlcNAc)2
231001100000000C

35

3

25

expression (pmol)
= [

o
2

0.2252x+ 0.7636
R2= 09603

0

0 2 4 6 8 10
quantity (ul)

75(949): m/z=3074.2090
(Hex)2 (HexNAc)3 (Fuc)3
(6NeuAc)2 +
(Man)3(GlcNAc)2
233000200000000C

30

25

expression (pmol)

2.1014x+ 269588
R2= 09523

0 2 4 6 8 10
quantity (ul)

(Man)3(GlcNAc)2
330001100000000C

35

30

25

expression (pmol)

2.66T1x+ 2.8788
R2= 09587

0 2 4 6 8 10
quantity (ul)

68(815): m/z=2550.9826
(Hex)2 (HexNAc)2 (Fuc)1
(3-8NeuAc)1 (6NeuAc)l +
(Man)3(GIcNAc)2
221001100000000C

35

30

25

20

expression (pmol)

2.7392x+ 14378
R2= 09869

0 2 4 6 8 10
quantity (ul)

72(829): m/z= 2944.1460
(Hex)3 (HexNAc)3 (Fuc)l

(6NeuAc)2 +
(Man)3(GIcNAc)2
331000200000000C
. $
$ 0
g 15 (D
i ’ 4quamt\tyﬁtm) ’ "

76(1198): m/z=3130.2464
(Hex)3 (HexNAc)3
(6NeuAc)3 +
(Man)3(GIcNAc)2
330000300000000C

60

50

40

30 @) 0]

expression (pmol)

4.9386x+ 5.5693
R2= 09533

0 2 4 6 8 10
quantity (ul)




77(1199): m/z=3102.2151
(Hex)3 (HexNAc)3
(3-8NeuAc)1 (6NeuAc)2 +
(Man)3(GlcNAc)2
330001200000000C

250

200

expression (pmol)

18.3473x+  11.4287
R2= 09721

0 2 4 6 8 10
quantity (ul)

81(1261): m/z=3192.2104
(Hex)3 (HexNAc)3 (Fuc)l
(3-8NeuAc)3 +
(Man)3(GlcNAc)2
331003000000000C

09

08
071
06
05

04 /

03

expression (pmol)

02

01 0.0490x+ 0.1499
R2=  0.9686

0

0 2 4 6 8 10
quantity (ul)

78(1200): m/z=3074.1838
(Hex)3 (HexNAc)3
(3-8NeuAc)2 (6NeuAc)l +
(Man)3(GlcNAc)2
330002100000000C

30

25

expression (pmol)

2.1014x+  2.6988
R2= 09523

0 2 4 6 g 10
quantity (ul)

79(1259): m/z=3248.2730
(Hex)3 (HexNAc)3 (Fuc)l
(3-8NeuAc)1 (6NeuAc)2 +
(Man)3(GlcNAc)2
331001200000000C

70

60

50

40

30

expression (pmol)

20

5.1283x+ 6.0411
R2= 0.9461

0 2 4 6 8 10
quantity (ul)

80(1260): m/z=3220.2417
(Hex)3 (HexNAc)3 (Fuc)l
(3-8NeuAc)2 (6NeuAc)l +
(Man)3(GlcNAc)2
331002100000000C

¢

expression (pmol
~
—E—

0.3989x+ 15874
R2= 0.8976

0 2 4 6 g 10
quantity (ul)



